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24
B

ESE

101 Q1A Hl

9,738

04 JI2tHM2E2XSE+ 9,738 0 9,738
OANEEX 8,856
ORI a8 Jlsd IFdY 23 4,428
OC1NEE =5 g 22 4,428
OHERHI(UUEER) 882
202 GiHl 2,400 0 2,400
01 =2 AbI 2,400 0 2,400
OJ3¢Y B ¥R ¥ 23 2,400
207 2R 27,862 0 27,862
03 Al&l & 22 H| 27,862 0 27,862
OANZ E ANEIM 27,862
ORI ] Jisd 2FMdY 28 7,862
O=xcl5 2238 Jle BE= 10,000
OLNEE s=JI= W 22 10,000
& g4 Jls Mg 148,419 94,278 54,141
SE SHE & AR 83,419 94,278 210,859
101 1A HI 37,020 39,910 22,890
04 JIZtH22NSES 37,020 39,910 22,890
OANEEX 21,033
OXAE A3 N3a & AN e 11,070
OdAEE Jlsd ¢= o7 9,963
OZFUL 12,636
OHHE A5 N3s & AT N 12,636
OHIRHES(UUEER) 3,351
202 OfHl 5,400 11,088 25,688
01 3LHOiLI 5,400 11,088 25,688
OFEUFE0F o3 & st&3|9 &4 2,700
OFEUIE0F NZE &€ IE £F 2,700
207 A2 40,999 36,280 4,719
03 A& & 22H| 40,999 36,280 4,719
OHAE X3S X ATHIHEY 20,000
ouEsg Jisd g= o4 20,999
2N RELE BE IEs HF 65,000 0 65,000
101 1A H| 3,652 0 3,652
04 J1IZHN2ZXEES 3,652 0 3,652
OANEEX 3,321
OHERHSUUEER) 331
202 OfHl 2,100 0 2,100
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A2 JIBOIE 2 ATHY 198,546 183,339 15,207
101 Q1A H| 198,546 183,339 15,207
03 LI HA2ZNES 198,546 183,339 15,207

oMYA R 198,546
oz 41,0009 +82 +261 85,608
oaoi= 85,608,0002 / 128 *43) 28,536
og3syse 41,000 +82 +52 17,056
OANZA2R4Y 8,725 =8 +15AI 2H+ 128 12,564
OUXNRSEINSE 69,8012 *82 17 9,493
O EE I 300,000 *82 +23] 4,800
o= Al 130,0002 82 * 128 12,480
OmEH| 60,0002 *82 122 5,760
OFI2&IH4S

10,701,0008 /128 *10%+4 2 * 128 4,281
OgRREI(UUEEE)
180,578,0002 *9.95% 17,968

| 28,220 28,382 A162

Neg =2l 22,370 22,482 A112
201 LEr2Y 11,330 11,142 188
01 At 22lH 10,830 10,642 188

ORN2Y A2 2| 10,830

02 T=29H| 500 500 0

oRN2Y 22 500

202 014l 5,760 5,760 0
01 2LHoIHI 5,760 5,760 0

ORAN2Y 20l 5,760

203 YR =AY 3,480 3,480 0
02 MDA R EEIY| 480 480 0

OFAINND 40,0002 * 12 480

04 BASYARETY| 3,000 3,000 0

©150! 0I5t 250,000 * 122 3,000

204 HRLBAY| 1,800 1,800 0
NEEEEEE L 1,800 1,800 0

oA 150,0008 * 128 1,800

A 29 5,850 5,900 £50
201 Yer2H| 5,850 5,900 250
01 AR 2 2IH| 5,850 5,900 £50

0Y - =3 &g 5,750

oYM FIE FY L NE 100
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